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# 18 PNS Number Club

# 18 PNS Number Club

e The Two Times Club

e The Two Times Club

HOMEWORK TEST

2 x[5]=0 | |[7zfx]2]=7 | [ [Ix]2f=f1] [ [x]2]=]20]
[1IXT T=T2] [ IXxT2T=T18] [2]X [=Te] [ IxTaT]-=T12]
| [ xf2]=J1e] [2]x]| [J=Jr] [2]x]2]=] | [7[x]2]=] |
[0 XT2T=T 1 [ IxT2T=T8] [ IxT2aT=T10] [ IXxJT2[=T4]
2 xf2]=0] | [2fx] [=Ju] [2]x]8f=] | [8x]2]=] |
[2TXT T=T14] [2]xT3T=T 1 [ IxTaTlT=T2] [2TXx] T[=T16]
| Ixf2]=08] [2fx|ol=0] | [2]x]4f=] | [2x] [=1]8]
[2]XxTJo]l =T ] [2]X]T T=T10] [ IxT2T=T14] [2XxJ10[=T 1]
[ xf2]=] | | _[x]2]=f2]| [2]x]8f=] | [2x]1]=1] |
Parents: Counting in 2's will help to begin with multiplying.

E9.5x2=2,4,6,8,100r2+2+2+2+2
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[2]XT T=T2] [6[xT2T=T ] [7zIxT2T=T 1 [10]x]T2[=T 1]
2 [ x| [=J12] [2fx]| [=Ju] [e[x]2]=] | [ [x]2]=1]2]
[6 [XT2T=T 1 [ IxT2T=Te] [ IxT2aTlT=T4] [ TxT2T=T16]
l[olxf2]=] | [5[xf2]=] | [2]X [=]18] [2 [x[8]=1] |
[2]XT T=T4] [ofxT2T=T ] [ IxT2aT=T12] [2TX] [=T10]
| [ xf2]=J1we] | [x]2]=f8] [tof]x]2f=] | [ [x]2]=1]¢e¢]
[2]XT4T=T 1 [ IxT2T=T2] [ IxT2aTlT=T8] [ IxT2T=T 1]
2| xfwo]=] | [ _[x]2]=(18] [2]X [=]20] [2 X[ [=1]14]
[2]XT T=T10] [2]xT8T=T ] [2]xT4T=T 1 [2IxT1[=T 1]

Parents: Counting in 2's will help to begin with multiplying.
Eg.5x2=2,4,6,8,100r2+2+2+2+2




